= WS IIE= /jﬂ“‘g SoMoam|f - 31

AB, 27/7% per ronblore /4 /orebkin aﬂﬁmi)i% 00
CD. vl rabe- Y alyaue o b
in gk ,ﬂ7 aﬂyfam, RN Y
E f/a A /Mé/z/mr// fﬂw//u/ga/m ad |
wn ﬁ’«z‘z’éu@//mﬂu o St —4 s,
E (o che o1 dovra /im nelle topra |
uq:mfu*a/ v// 7 Hayally e ron-

= \ }Mc N Affmo@g/o/w #va (o 1& Lzzz
"\E//ﬁ R % S _\Mv/,.-{idﬂ

1
214/ L 3
17 { Z z‘ "“'.?,}.:.GH /;mg % //ﬂ/féééé ./W{;/)’Z/ﬂ/g’&
s . |1 : 5 t’ 7 *i . /MI‘”““ o varebhe -
7 L 2 " y ) {r aMi cﬂ " & /
e e i = A =51 - “‘*‘7’ ” f@m//a% ----- 7z s00f
L % > /omma A 2040

4 /a0 300 S0 g
bt IR ICKIN I I =3 | %

. Lt
I 40 200 40 /
£
I 4

———
T LR




